&T/Honors Geomelry
Chapter 10 Review - Area
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For the following problems, find the area of the entire figure if nothing is shaded, or find the area of the
shaded region if there is one. All answers should be exact unless you are asked fo round.
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Regular hexagon with semicircles aftached
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7. A= 8Q\ O Find the area of o ragular nonagon
with sides of length 12 cm. Round to the nearest
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Regular folygon, round to the nearest tenth.
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13. Find the area of an isosceles trapezoid that has
bases 8 cm. and 18 cm. and that has legs ﬂfzaf are 13
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14. Find the area of AMNP if m = 14, p = 16, and
m/MNP = 63°. Round your answer to the
nearest Tenth.

15. Find the area of the triangle bcunded by

16. Find the area of the quadrilateral ABCD with
coordinates A(-15), B(6,4), C(2,-2), D(-5,2).
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1B. Joey has his dog on a leash tied to the corner of the garage. The garage is 20 fegi
the leash is 24 feet long, how much area can the dog access? \J‘-i
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